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Chapter Name : Logarithm

Solve the following equation for x : logg(x — 2) + loge(x + 3) = 1.
Prove the following: (logx)? — (logy)? = log§ Jlog xy.

Evaluate the following: log2 + 16 logg + 12 logg +7 log%.

If x2 + y2 = 23xy, prove that log {% (x + y)} = %(logx + logy).

. log+v27 +logv8 —logv125
Find the value of =& g8 — log 125
log6 — log5

If logs(x2 + 2) = 3, find x.
If log(m +n) = logm + logn, show that n = —

m
m-—1

If logﬂ = l(logx + logy) , prove that x =y.
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Prove that 2 log% + log% - log; = log 2

If log(x + 1) + log(x — 1) = 21log 3 + log 11, find the value of x.

If x = logg Yy = log% and z = 2 log? find the values of 3**Y~2,



